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1. 'DWCRA’ Y&hedTel %7 3EE_ faeT &0 § 2.

1) ZET 9PTAIS HigdT 2) ATHOT RIS Aigen

3) JTHTOT 30T 31T PTG AT 4) FTHIOT BTG ATRAT STMOT b
The main aim of ‘DWCRA’ project was the development of

1) Women of urban areas 2) Women of rural areas

3) Women of rural and urban areas 4) Women and children of rural areas

2. YEIBUh! HIVIAT BT TRUMGAR RA™ qo9e Sarer e a9 21 9y 9 &
fFA 99 18 99 ¥ wvara ser?

1) ST HHIEAT IROT, 1976 2) TS BIREEAT GIR9T, 2000

3) ST BB GIROT, 2002 4) IS BIHIEAT TIR0T, 1978

According to which of the following population policies, the minimum age of marriage for
Indian men was fixed at 21 years and for women at 18 years?

1) National Population Policy, 1976 2) National Population Policy, 2000

3) National Population Policy, 2002 4) National Population Policy, 1978

3. 2011 <A STRVHTAR AERIETAIG [ohdl T8l GIehvieAT S2T STEUET SR 38?7

5 2) 6

3) 7 4) 8

According to census 2011, how many cities in Maharashtra have more than a million
population?

)5 2) 6

37 4) 8

4. TGOS AT HedRTdT bl A9el STt dadid g df garg Haer.
1) FIHIEAT F1e 0T THRIHS =07
2) BIREEAT a1e foT wiasardes Fasor
3) BIHAAT 91 AT faamrer
4) SIHEEAT I AT STAT8THAT

Choose the option related to "Malthus's Population Trap" from the options below.

1) Population growth and positive control
2) Population growth and preventive control
3) Population growth and development

4) Population Growth and Fertility

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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5. 9O 2011 A ATERAT SXTHASHIT Glooleh TSTealidl gecT shill HiguiT &l
) TR
ENEERERI
&) g
T 3L
) 3A, 9, % 2) &, 9, A
3) 9, %, A 4)h, A, T
Arrange the following districts in descending order of literacy rate in the year 2011.
a) Nagpur

b) Amravati

¢) Pune

Answer Options:

1) a, b, ¢ 2) ¢, b, a
3) b, c a 4)c a, b

6. 2011 AT STPVHIAR TSR TSTegiTdl AhaweT a-ar fohdT 31mg?

1) 163 =T, fHT. 2) 193 =T, TR
3) 74 =T, THHT. 4) 93 =, foHHT.
As per the Census 2011, what is the ‘Population density' of Gadchiroli district?
1) 163 sq.km 2) 193 sq.km
3) 74 sq.km 4) 93 sq.km
7. 2011 SFRTOHEAR SATroT TSTeaI=Il FTE<T HIHTSAT 15% Y&T HHT ITE.
1) TSRS 3MfoT Ryt 2) ITEMRIST ToT IMitear
3) it sfeT Ryt 4) TifeAT Ao AR
According to 2011 Census, and districts have less than 15% of their
population living in urban areas.
1) Gadchiroli and Sindhudurg 2) Gadchiroli and Gondia
3) Gondia and Sindhudurg 4) Gondia and Washim

8. 2011 AT SIPVHINR, T IRATdI THhAd 5T e ST ThRIAS SIhaeaT 912 S3idd.

1) AR 2) FIgRT

3) Ry 4) APTAES

As per the census 2011,  is the only state in India who shows negative population
growth.

1) Manipur 2) Tripura

3) Sikkim 4) Nagaland
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9. WRAR 2011 T TPUHIAR WHIGURl HIVTAT Sheaniad Feznd [T o it
3me?
1) TerTe 2) IR0
3) BT 4) THOT ITOT S

According to the Census of India 2011 which one of the following Union Territories had

the highest sex ratio?
1) Chandigarh 2) Puducherry
3) Lakshdweep 4) Daman and Diu

o

10.  SRISPIRIE AISHIT FRUATAS! 916G axfed R SaMTsiaid, TERT ShH
TS B hos TG R ATA Y07 SIS ARl FUA T oy ST
1) feg=r 9 arer fohar 1o 2) Teaar 4 I Toham w7
3) feaar 8 T fohar atfas 4) fea=r 4 a7 fhar st

Under the current daily status approach to measure unemployment, a person is classified

as employed for the ‘full day’ if he has worked for
1) 9 hours or more during the day 2) 4 hours or less during the day
3) 8 hours or more during the day 4) 4 hours or more during the day

11.  NSSO JHR 'SHZIh" AT FTETET 3T 3T8:

3N S R I 3.

) ST TR ARl e,

qAET 3T

1) ™k 3T 2) WTh &

3) 37 3MMoT & 4) 37 Thar § ATEr

According to NSSO the term ‘labour force’ refers to :

a) Those who are seeking work.

b) Those who are actually employed.

Answer Options:

1) Only a 2) Only b
3)aand b 4) Neither a nor b

[ QNN e e N Y

12.  "US THMAME! AT AT § G Sl fo3fees?

1) oA gz 2) . 3R, SI. areT
3) STAVERTST TRTIOT 4) TTETTE RIS
Who authored the book "Planned Economy of India"?

1) M. Visvesvaraya 2) J. R. D. Tata

3) Jayprakash Narayan 4) Dadabhai Nouroji
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13, IETET FisTaT HgEr T TR Shodl B
1) STIYRTET ARIIOT 2) ST AR AT
RERIEIRIE] 4) T, U, 3T
The Gandhian Plan was drafted by
1) Jayprakash Narayan 2) Shriman Narayan Agrawal
3) Vinoba Bhave 4) M. N. Roy

14. 9fear 9aaii¥e ST HST ATAUh! hT e ATal?

31) ISTAIE ) I FfE are

&) HEATIE HHI HYT IcaTa T) AT T
T 3T

1) 3T 3O § 2) & AT §

3) 37 3MMIT & 4) § SMMUT S

Which of the following did not happen during the First Five Year Plan?
a) Inflation b) Slow industrial growth
¢) Agricultural production below target d) Import of food grains

Answer Options:
1)aand b 2) cand d
3) a and ¢ 4) b and d

o hd o o o o o o
15,  TdHAT 9IdYh TSl shlodld WlolYUehl ATl M9 Tehl ATal?

1) FCI 2) SBI
3) IDBI 4) UTI
Which of the following was not established during the Third Five Year Plan period?
1) FCI 2) SBI
3) IDBI 4) UTI

16. HRAId 3EdH dt‘*llcidl‘a qTOT SHTSHHA (HYVP) ET) ™ DTYTA SHTAT?

1) 1964-65 2) 1966-67
3) 1968-69 4) 1969-70
When was the 'High Yielding Variety Programme' (HYVP) launched in India?
1) 1964-65 2) 1966-67
3) 1968-69 4) 1969-70

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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17. WISIGUH HIOTAT BEUSIE Tehedidl GRaTd HelT Uodye Jied el g

3n) Wrerg DICIER
%) ST ¥) TzmEIgT™
T I
1) 3F mfor § 2) 3F Afor &
3) &% MO S 4) g for 9
Which of the following iron and steel projects were started in the Sixth Five Year Plan?
a) Bhilai b) Bokaro
c) Salem d) Visakhapatnam
Answer Options:
1)aand b 2) a and ¢
3) cand d 4) d and b

18. WISIGUHT HIoTd IR Urere duaiiye dise=r ATer
1) 20 HHHT HIAHATAT SO 2) UIEROT TUTETON
3) JTOTETOT=T SO 4) TATT Hhe
Which of the following is not a characteristic of Fifth Five Year Plan?
1) Declaration of 20-point programme 2) Pokhran nuclear test
3) Declaration of emergency 4) The oil crisis

o o o o o
19.  dlAlAYenl <[Vl "HIhdl JISTHT JAdAl?

1) S e=g Mox 2) B, . FheETAT

3) AR TS 4) JEIT Tehaal

Who among the following suggested the 'Rolling Plan'?

1) John W. Miller 2) D. T. Lakdawala

3) Gunnar Myrdal 4) Sukhmay Chakarborty
20. 122 YA Jre-Er SRS SRivTdr?

3N P THREAER R E) R CREEIR

&) ATy ARPT FaT S RERIPARERIETUIECIRES

T I

1) 37 mfor § 2) 31 Afor &

3) & MOT S 4) 7, T, F AMOT S

What are the features of 12th five year plan?

a) Emphasis on skill development b) Sustainable Development

¢) Universal health care d) Emphasis on financial empowerment

Answer Options:

1)aand b 2) a and ¢

3) cand d 4) a, b, cand d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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21, TREH AHAH TG Tead AR 2011-12 7 FIRGER,

37) UTHIOT It - 972 ) TTEA 9IIETSr - 1000
) UTHIOT HARTHATS!- 816 T) IMET WIS - 1407
T I

1) 37 3MOT § 2) § 30T &

3) & T © 4) F3MOT E

According to the methodology suggested by the Rangarajan Committee, the poverty line in
2011-12,

a) For rural areas - 972 b) For urban areas - 1000
c) For rural areas- 816 d) For urban areas - 1407
Answer Options:

1) aand b 2) b and c

3) cand d 4) a and d

22.  RATdIS IR fafay SRt AT 8. FRIvdr ges SRS SR a3d ATar?
1) TN TTHAT 2) STTATERAT
3) B HHT IATSh] 4) HFAETH THe IS

Poverty in India is caused by a variety of factors. Which of the following is not a contributing

factor to poverty?
1) Inequalities of Income 2) Mass Literacy
3) Low productivity in agriculture 4) Fast Rise in Population

23, IR o9 YRRAT Brata=enT ed. TRIdTdie IR HTol WISTGUS! hivTdr Ihg 37e?
1) AT FHE 2) Ui HIE
3) & HTS 4) ST TS
In India, there are three types of ration cards. Which of the following is appropriate for the
"poorest of the poor"?
1) BPL Card 2) White Card
3) Suraksha Card 4) Antyodaya Card

24. WISIGIRN HOTAT AFAH FHaes IO TReTaR raniRa IiRsERS=r BIeRT S 3me?
1) YT F¥ar 2) FFHSTATST AHAT
3) dgHHhe AT 4) PRI Far
Which of the following Committees recommended a poverty line based on nutritional
requirements exclusively?
1) Alagh Committee 2) Lakdawala Committee
3) Tendulkar Committee 4) Rangarajan Committee

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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25.  SIdl 3T WY hebedT Task Force on Elimination of Poverty in India IT HEASHTAT HIT

T g
37) SIS SARSAT 20T
) IRET ST RIEET F990]

%) IReT G TROT G0

T 39
1) %h 3T 2) 31 3MOT &
3) 31, ¥ foT & 4) § 0T &®

What did the task force on Elimination of Poverty in India, established by NITI Aayog, have
to suggest?

a) Finding the definition of poverty

b) Planning for poverty alleviation

¢) To suggest strategies for poverty alleviation

Answer Options:

1) Only a 2) a and b

3)a, band c 4) b and ¢

26. RBI ¥ Tl @Ra0Td HA HIOT ?
1) ST ek T HI ITE
2) TREHRT T ATTRRT T HIH e
3) T S 9T HROT
4) 99 INT TR
What is the central function of RBI ?
1) To work as bank of banks
2) To work as government’s recovery officer
3) To integrate financial institutes

4) All are correct

27. il AITFRAANSG AT HHT HRIATHT IRST S d=T RBI T3S TTHh IASS ?
1) SLR ¥ Te5aRI HET TP,
2) CRR © THATT HUT .
3) AT JTSTRIA MR Uil ool
4) GAT TEIRTT IMRTRIT T e 9T
What step RBI would take if economy need to decrease credit creation ?
1) Decrese SLR percentage.

2) Decrese CRR percentage.
3) Sell government securities in open market.
4) Buy government securities in open market.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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28.  WIHIUST Hifgeh RO IRY SO e ?

E IR GREEI] ) IR Fesl

%) qOT IISHIR ©) faf e <= R
R IEIERSSES

1) h 3T 2) 3T SOT &

3) & AT © 4) B ©

Which of the following are not objectives of monetary policy ?

a) Infrastructure development b) Economic development
c) Full employment d) Exchange rate stability
Answer option

1) Only a 2) a and ¢

3) b and d 4) Only d

29. W faem erd =1 S7for Ay g e
37 FETRIAIS dRhal HHT HRugTATST R Soh Y97 2% TeaaT=T HuT .
) RIS d3odT AreauaH el Rerd g Regd Y4t 2T TesaRy T 3d.
T I
1) %h & I 3ITE. 2) th 3 IR IR,
3) Sl AT 3R, 4) LT INT 3T,
Consider the following sentences and choose the correct option.
a) To decrease liquidity in market, reserve bank decreases repo-rate percentage.
b) To increase liquidity in market, reserve bank decreases reverse repo-rate percentage.
Answer option
1) Only b is correct 2) Only a is correct
3) Both are incorrect 4) Both are correct.

30.  3TUOT S TISTHAT FAEES Wold (U S&ITd =T o7 I ggTg e

1) o= qaest axaor. ) h a9 Gadrd el Aol

wﬁaﬂﬁréﬁﬂa‘rﬂﬁﬁw T) IMERATAFATS T W5 TN,
1) %h & Y e, 2) Wt 3T IOT & IRT IR,
3) 3, &, § 9T ITe. 4) 99 [T 9T 3.

Consider the following sentences about functions of lead bank scheme and choose the
correct option.

a) To decide credit requirement of district

b) To provide long term credit only.

¢) To provide short term and long term credit.

d) To search for location of branches.

Answer option

1) Only b is correct 2) Only a and c are correct

3) a, ¢, d are correct 4) All statements are correct.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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31.  JYTHe I IONER (SLR) o =T 1 HT 3R ?

1) TRSRT I [qehd =SoaTarer., 2) SHERIET T,

3) Tl S YUT HT, 4) TRBRAT ARG I I

What is the main function of statutory liquidity ratio (SLR) ?

1) To buy government bonds. 2) Security of depositors.

3) To achieve loan targets 4) To give it to government in contingency.
32, RO Rel Jhar fFa fordT TG 3997 3Ta3ge 318 ?

1) 115 Sier 2) 85 Wil

3) 200 il 4) IR ATE

How much minimum cash needed to be kept with Reserve bank of India ?

1) 115 crore 2) 85 crore

3) 200 crore 4) None of these

33.  RATIS T&ddl dhel RIS 56 & Bed Sd ?
1) dF ST S 3TE 2) TIMAIH IS Shier THIETT Hd.

3) MIRATAIG do-aTerd A= . 4) I I dohdaT I ATST TS,

Why central bank in India is called as ‘Reserve bank’ ?
1) It is bank of banks 2) It is supervise all banks in country

3) It controls inflation in India 4) It has cash stock of all scheduled banks

34, AT IhT STISHT YT 87T ol [IARUITET el Yo7 s 2Tehd ATel, AT ar (T @rohieud
HoT AT H&F Saar Idr ?
1) JTHIOT AT TRy et 2) ATHOT 3TaT fredt
3) fredr 4) WSTR Fa

Those banks which can’t fulfill priority sector lending quota , they have to put remaining

fund in which of the following corpus ?
1) Rural Infrastructure Development Fund 2) Rural Housing Fund

3) SIDBI 4) All of the above
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35. IR SISl NICEIR
‘I ITE (ITYIMH)
3) g Sl
) WT. T PRI
F) . T, F
©) TUeieh STIOT ATgSta
3T El <h S
1) i ii iii iv
2) i i iii iv
3) iviii ii i
4) i i iv iii
Match the pair
‘A’ (Economist)
a) Hugh Dalton
b) Prof. Findley Shirras
¢) J. M. Keynes
d) Peacock and Wiseman
a b C d

1) i ii iii iv
2) il i iii iv
3 iv il ii i

4) i i iv iii

T IS (ATESTHS 9T RS qed)

(i) ZmETET [ 39RO SfoT wataTed

(i) 3T SIOT AT ATAT JHRIS fawTr
(iii) TTISIE FETET YIS Regia

(iv) T Fegr SnfoT anfeier foeer.

‘B’ (Idea of public finance)

(i) About raising public fund and expenditure

(ii) A subject on boundary of Economics and politics
(iii) Modern theory of public expenditure

(iv) Economic growth and economic development

36. WIS AU el &7 3T Iy {4 e

31) TSie 2023-24 T 6 TTH T 37Ted.

) 5 FE A I HIH .

T IO
1) %tk
3) SI=er 37 37T &

2) Bth §

4) Thel A&l

Consider the following sentences and choose the correct sentence/s.
a) Budget 2023-24 has made 6 income tax slabs.
b) Income upto 5 Lakh is not taxable.

Answer option
1) Only a
3) Only a and b

2) Only b
4) None of these.

T HHTETS! ST /| SPACE FOR ROUGH WORK
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37.  TSTRINIT TRIHOMATS] $3 el IUTT HA BRI ?
3) HEH T
) AT hIChHIAT
&) AT AR
Tt 3T
1) 3T fTOT § 2) 3T JAOT &
3) § AT & 4) ITUHT TR

Which dual measures are need to be followed for fiscal consolidation ?

a) revenue augmentation

b) expenditure minimization

¢) expenditure rationalization.

Answer option

1) aand b 2) a and ¢

3) b and c 4) None of these

38. Wl T4 H&Td =T 3NfoT I frami/A e
37) TSAATIS GIROT AT THUT T TG AT
) TSAEATTS GIROT AHATAT ISl TIHST 31T,
LEIRIIS RS
1) %eh 3T 2) &h &

3) SIRT 3T AOT T 4) Tehel A&l

Consider the following sentences and choose the correct sentence/s.

a) Monetory Policy Committee consist of six members.

b) Monetery Policy Committee is headed by finance minister.

1) Only a 2) Only b

3) Only a and b 4) None of these.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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39. WIS TIU HelTd &7 37T 3ry forar=/~ e,

3T) 9TE®T FRBM SRS 2002 T (ST shodehe ATAT STEIETAd UMY ST, AT HeS e

o

2008-09 T 0% HIoGTT ZTHRT hoir.

) ORI FRBM &HTIIC 2012 F& AT, BRI IreAT TALAd UTIT A, AT HeHS qC

2014-15 93 2% FRUITE RIGRA FHe.
%) fARIRT FRBM ST 2016 A U, o, [R97 A7<AT sreretdd U9 TS, AT HedS e
2023-24 THT 0.8% FHRUITET RIBR™T THoo.,

I 39
1) %k 37 3MfoT & 2) %h
3) Tk 3T 30T & 4) Tehel AT

Consider the following sentences and choose the incorrect sentence/s.

a) First FRBM work group was established under Vijay Kelkar in 2002 which suggested
revenue deficit 0% by year 2008-09.

b) Second FRBM work group was established under C rangarajan in 2012 which suggested
revenue deficit 2% by year 2014-15.

¢) Third FRBM work group was established under N. K. Singh in 2016 which suggested
revenue deficit 0.8% by year 2023-24.

Answer option

1) Only a and b 2) Only b

3) Only a and ¢ 4) None of these.

40. ToraTaiie I IWTeT S TETOT

1) FcaeT Y FEIOT Y87 SR 3T, 2) TET T THTOT U HHT 31T
3) [aid 23MuEe 379 . 4) HUT FET FHU RT3

In developing country, proportion of share of indirect tax is

1) More than share of direct tax 2) Less than share of direct tax

3) Equal to developed country 4) Sometimes more sometimes less.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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41.

WSS U Fera =7 stor Iy a4 Haer.

31 H ATIATT HHeITT & HAHIET T 0TS,

) HY AT YRS =TT B0 2l

%) RIS HY YRUTATER 2 ITATd HFL &l

T) BT dichlcd UET=T SIS 38,
T I

A, T, H
3) 3,9, H,

2) ¥, &, ©
4) A, h, S

Consider the following sentences and choose the correct sentence/s.

a) The concept of Impact of Tax is introduced by Seligman.

b) Impact of tax is applied at initial stage.

¢) It is applied on one who pays taxes.
d) It is immediate money burden.
Answer option

1) a, b, ¢ 2) b, c, d
3 a b, c,d 4)a, ¢ d
42,  ASTMR, =TT 0T Yzm=r A= Regia T G,
1) TR fhers 2) Giehteh 3NfOT aTgstaT
3) T, for 4) . U9,
General theory of employment, interest, and money is proposed by
1) Eric Lindal 2) Peacock and Wiseman
3) Prof. Pigou 4) J. M. Keynes.
43, ST UM Yoddie AT 2hl 3Td, ATeT 39 2%hl UHT BT, g 2 Ucsh

HATd.

31 ST BATdle g
&) JRgTS HRTO Iar
T 39X

HF,a &

3) 3, q, S

o C 2N o A
) R Tohdlo gav o4l
T) JhThel® I HTaT

)T, H, T
4) A, F, T

The money which has power to control inflation, is known as High power money. It

contains these facors.
a) currency with the people

c¢) Demand deposits in banks
Answer option

1) a, b, c

3)a, b, d

b) Other deposits in Reserve Bank
d) Cash deposits of banks

2) b, c, d
4) a,c d

T HHTETS! ST /| SPACE FOR ROUGH WORK
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44. IANT SST BT
1) M0 = Efad o 2) M1 = Igfad I
3) M2 = fovga o= 4) ITUHT AR
Choose incorrect pair.
1) MO = Reserve Money 2) M1 = Narrow Money
3) M2 = Broad Money 4) None of these.

45. AT INTOT AT HA S START Sl ST,
30 T wraw - araee s ) oI BIACROMT AT9T - $AH SR
F) IS IAAT A9 - YTaiHE o) fezier afHroT - gt o
qIET 3%
1) § 30T § 2) Bh
3) %th & 4) I9 Sream TR 3R,
Identify incorrect pair about money and its function.
a) Medium of exchange — Primary function
b) Transfer of value - Secondary function
¢) Measurement of national income - Primary function
d) Unit of account - Primary function
Answer option
1) b and d 2) Only d
3) Only c 4) All pairs are correct.

46. AT TheR T T2mar SaER TPENgT Negia Afear. A AderaRddis Tamearsd

FIAT ATeT HETT AT ?

37) TR HETOR ) WmET TYFRIAS I
&) FIERIE! T T) FIERMET AR e
AT 3T

1) A o h 2) d, %, ©

3) 3, F, T 4) TASHUHRT AT

Irwing Fischer proposed theory of transaction approach of money. What does he considered
about money in market ?

a) Money demand b) Velocity of money in market

¢) Number of transactions d) Prices of average transaction

Answer option

1) a, b, c 2) b, c, d

3 a,cd 4) All of these
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47. “R9ST ATIST ARTON I HATIT FHAr BT GRIHAATST Rigid SOl ASHT ?

INEEEREEIE 2) 5. . e

3) fovete e 4) S AL

Who proposed the classical theory of ‘money supply creates its own demand’ ?
1) David Ricardo 2) J. S. Mill

3) Lionel Robins 4) ]. B. Say

48. AAHAT 2MHINS TSTIRT HIOTIT HIROT R 2

3T) 3TYT YT Jfardr
) TATTIS TR Ao aeqdl dredl IR

) 3T STTOT AT AR

¥) ST YT qRaer

gt 3T

1) 3,9, h 2)  3nfUT %
33,4, H, S 4) 37 30T &

Which are the reasons which increases inflation in underdeveloped countries ?
a) Insufficient of infrastructure

b) Increase in demand of most needed commodity

¢) Economic and political underdevelopment

d) Excess money supply.

Answer option

1)a, b, c 2) b and ¢

3 a,b,c d 4) a and ¢

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



18

AT Wb IRER

49. IRY ST SJeaaT.

‘3 e @)
37) 1967-68
&) 1974-75
h) 1980-81
S) 1991-92
ST |
1) i ii
2) i iii
3) i iv
4) i iii
Match the pair

‘A’ (Year)
a) 1967-68
b) 1974-75
c) 1980-81
d) 1991-92
a b
1 i ii
2) i iii
) i v
4) i iii

iii
ii
ii

iv

iii
ii
ii

iv

T I (FAHATEET T)

(i) 13.9%
(i) 18.2%
(iii) 25.2%
(iv) 13.7%

iv
iv
iii

i

‘B’ (Inflation rate)

@) 13.9%
(i) 18.2%
(iii) 25.2%
(iv) 13.7%

iv
iv
iii

ii

50. TSAAEIE ROT MIHd HRUGRIST o]

1) WPI
3) TR CPI

o X

Mg

IEREEINGRCGRIRSIRIN
2) CPI- TW
4) CPI - C

Which index is considered to decide monetary policy ?

1) WPI
3) Core CPI

2) CPI- IW
4) CPI - C
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51, 31) WO AT IAETEA M AP IS T JATT AR TSI AT SITAT,

) M=% AP IATE (NNP) FlETes Icdd Healquararas! fohdl &d ral SeTdl I
TSt I,

e far sfiesaT.

1) SIS I9 2) 3 Hh

3)  Hth 4) I ATEN

a) To get Net national product we have to subtract depreciation from gross National
product.

b) Drawing NNP gives an estimate of how much it will cost to earn income.

Identify correct statement.

1) All of the above 2) a only

3) b only 4) None of the above

52. AT fuT STresET.
3) A [ThT & Teh T Hehou T AR,
) T4 THRAT ATF FHRT g7 AT FATIHI=AT aTURMER ATHET ST,
EEIRIISES
1) 3T ®h 2) ¥ %th

3) 37 o7 & 4) T AN

Identify the correct statements.

a) Sustainable development is multidimensional.

b) All economic development depends on the exploitation of natural resources.
Answer options

1) a only 2) b only

3) a and b 4) Both not
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53.  INY SIISAT SToadT.

BIE] FEATS
3 ST (i) fodies g arer
) THIAIST (i) Tos FHEIIIT eS|
F) TAT TSBR T I STRAT (ifi) T UsT W=T9es
¥ I &

D oi i i

2) il i ii

3 i i i

4 i i i

Match the pairs.

Name Report

a) OECD (i) Limits to growth
b) MIT (ii) World Conservation Strategy
c) Eva Bellfore and Wake Jackson (iii) Polluter pays Principle

a b C

) i ii iii

2) i i ii

3) i i iii

4) i iii i

54.  37) ST ITATST Heha@T T T Fr eRere 39 Woad.
) SRSl 3T BUTS T3S BIehie FARTERT 39 8.

A U M.
1) 37 3MfoT § 2) %th
3) Sl g 4) Bh F

a) Domestic income divided by population gives per capita income.
b) Per capita income is the average income of the people of country.
Identify incorrect statements.

1) aand b 2) a only

3) Both correct 4) Only b
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55. TR SS19 FHTEISIT AT (SR Meziieh (PHDI) HISTIATHATS! hivTd ez ard=dra?
3) IRSIE CO, IHSH
¥) e[S o U=

TIRIT I
1) ®th 3 2) ®h &
3) 37 anfor 4) LT TR

To measure planetary pressures-adjusted HDF (PHDI) which indicators takes in account?
a) CO, per capita emission.

b) Material footprint per capita.

Answer option

1) a only 2) b only

3) aand b 4) None

56. AT STredT S[eT.

& % GDP (2020-21)
M) FU T AT T (i) 54.3%
) ITRTET (i) 16.4%
ENEIR-AE] (iii) 29.4%
ST B
1) i i ii
2) i ii iii
3) i i iii
4) i iii i
Match the pairs.
Sector % GDP (2020-21)
a) Agriculture and related sector (i) 54.3%
b) Manufacturing sector (ii) 16.4%
c) Service sector (iii) 29.4%
a b c
1) i i ii
2) i ii iii
3) i i iii
4) ii iii i
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57. T e e =

1) AfE&ET HDI - G&ST=T HDI 2) GHYET HDI - Af@eEr HDI
3) SN HDI / A= HDI 4) Hige=T HDI / G&Y=T HDI
Formula of Gender development index is

1) Women’s HDI - Men’s HDI 2) Men’s HDI — Women’s HDI
3) Men’s HDI / Women’s HDI 4) Women’s HDI / Men’s HDI

58.  ANY U SesaET.
3T) UL FRIAT Reies ¥ JeaaradT (RIR IR fohod) <7 3TTehe T =T,

) A TRATT WG J2NdTd 3TE (GDP) HAT H=al.

gt 3T
1) 37 %th 2) ¥ Wh
3) 37 3MIMOT F Sral TRl 4) 37 AT &

Identify correct statements.

a) Gross value added at constant market price figures are deflated due to addition of
indirect taxes.

b) There for India dross domestic product fills less.

Answer option

1) a only 2) b only

3) a and b both not 4)aand b

59. UWERT Sl RS geiug BITS AT Sha o,

37) I9GH I AT FRFTTST

) T ST T erEe gy A 9Uarret ST SAfasess T Ided SHAT
APRIE & .

g I

1) % 3T 2) Bt T

3) el T 4) TSR T

The ecological footprint of a population is the area of biologically productive land and sea
that, population needs to,

a) Produce useful goods

b) Absorb the wastes and wastes produced.

Answer option

1) Only a 2) Only b

3) Both not 4) Both of the above
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60. URTAfaS TS The HrR?
1) TS g 2) gos BaCH
3) Y g 4) YITERONT gaed
What is the unit of ecological footprint?
1) Global hectares 2) World hectares
3) Earth hectares 4) Environmental hectares
61. RAT 3MMYS® I H FTAA?
1) 19d 30 te 2) 1 UV o 31 9
3) 1 95 o 30 ST 4) 1 STHET 30 fede”
Which is the India’s economic year?
1) 1 May to 30 April. 2) 1 April to 31 March
3) 1 July to 30 June 4) 1 January to 30 December

62. FMT HRT Moz R 33T Jier SHieIR dIedl sl @1aT. (HDI-2020)

3N WRA ) A
ENNEIRIEE B IZE

(@) TRt

g 3T

DS 3, T, & T 2%, T, A, F S
3% 9, 3, H 4HT, T A, F 3

According to Human development Report, 2020 arrange the countries in ascending order by
their ranks.

a) India b) Butan

¢) Bangladesh d) Srilanka

(e) Pakistan

Answer option

1)d, a, b, c, e 2)d, b,a,c e

3)d, b, a, e c 4) b, d, a,ce

63. 3T) JATEROT MY & 3 T (NfYh) Joi= 3T ard Agdr Faw sar.
) foorT for TaTaReT ams Jgd WReR TRIT (@5 i) 31_Adl.

IR faT stiesaT.
1) 3 Fh 2) T Hh
3) 37 AT o 4) HIVTET ATEr

a) There is always a conflict between the goal of environmental sustainabity and the are
always intertwined.

b) Development and environmental sustainability are always intertwined.

Answer option

1) Only a 2) Only b

3) aand b 4) None
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64. SEIATATHT MRSl FEATRITTTA Wches Frem wera =,

3) @gmﬂl ThIAX 1/3 ef%Tl' Sl S gpgq ®|§d1|<4|‘-||€,8?4| RIS 3T

) FoATHT TR Yo YT ST AATT Fgd 0T SEATATESAT IRIS AT HHASTH
ST

AT Y 3t
1) 3 th 2) 3F Afor §
3) qvel ATer 4) ¥

Consider the following statements about multidimensional Poverty Index.

a) A household is multidimensional poor if the household’s score is greater than 1/3.

b) A household is considered to be severe multidimensionality poor if the household’s score
is greater than 4.

Identify incorrect statements.

1) a only 2) a and b

3) None 4) b only

65. 3N (IR Hhed-T [THT GoTGUDT Sl Hoar?

37) IUCN o) OECD
&) e EATS $) TGERT IRYS
ERIRIICIES
1) SIS A9 2) 3, 9,
3) & MMOT S HTE,FH S
Who among the following developed the concept of sustainable development?
a) IUCN b) OECD
¢) Bruntland report d) Earth summit
Answer option
1) All of the above 2) a, b, c
3) cand d 4) b, c,d
66. PSITAT ATIATEAT TURTER HIT IOTAR AT SITdTd
37) SRS JEToT
) ST drear
R ISR
1) TAFUhT =l 2) th 3
3) heh & 4) TISUYHRT Thgl ATar

On the basis of deprivation of households which ratios are calculated.
a) Head count ratio

b) Untensity of poverty

Answer option

1) All of the above 2) Only a

3) Only b 4) None of the above
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67. WTHSIAUHT IMFd AT TR HIvT?
3N e AT ) ISR 3TEdAr
%) GATEGRONT ITEAAr T) WIS 2mEadr
ERIRISISES
) 3A, 9, % 2) ¥, %, ©
3) A, T, S 4) TSTRT T
Which of the following are the pillars of sustainable development?
a) Economic sustainability b) Social sustainability
c) Environmental sustainability d) Institutional sustainability
Answer option
1) a, b, c 2) b, c, d
3 a, b, d 4) All of the above

68. 3N IMYd TAhTT BT Ulgediar 2016 T YRRl HvaTd AT
) BT IS IS SRAUHE HIega=T Aedsh (SDSN) T Seodd ReweT IrearTohd
TR SHeAT STl
T fa sfiesa.
1) 3 h 2) 3F Afor §
3) § Th 4) ST e
a) Sustainable development report was first published in 2016.
b) Sustainable development solutions network (SDSN) and Bertlemann Stiftung jointly
makes this report.
Identify correct statements.
1) a only 2) aand b
3) b only 4) None

69. IFT fauT STesET,

o A0 o

37) IS Jegdlldl ScaTa JRATHT Jeaarddial sxisT el Sird.
) IUT Tegdld SAET GChi=aT ATSHIT ST ISl S<IST shool ST,

F) 9 Tegdld 9o T AT [Gohd IUaTHTS! hosedT @l SRIsT hesl ST,

ERIEIICISES

1) 37 3MfoT ¥ 2) WIFTRT I

3) ¥ 3nfor & 4) 37 3{OT &

Identify correct statements.

a) In production method, the value added of the production organization is summed up.
b) In income method, sums up the income to the owners of the factors of production.
¢) expenditure method sums up the expenditure incurred to buy goods and services.
Answer option

1) a and b 2) All of the above

3) b and c 4) a and c
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70.  WRATET MY [ShRT IS 2020-21 F9d WSS [a f=R=dr =m.
31) BT 3T 2020-21 T TUHT HhI2Id hevaTd AT,
) AT A “UIEARENT 3 € TIhe 3% fm & gl

A fuT sTesET.
1) 3 %<h 2) o h
3) TASIRT gl 4) FgT TR

Consider the following statements about India’s sustainable development report 2020-21.
a) This report was first time published in 2020-21.

b) Theme of this report was ‘Parternership in the decade of actions.’

Identify incorrect statements.

1) a only 2) b only

3) All of the above 4) None of the above

71.  TH3iREdN SR U,
1) 15 T 25 TAPTETAIS 1000 HIZHTHPT STHTST ATHeAT SToehial G
2) 12 F 25 FIARTSTAIG 1000 HEAHRT ST 3MSeAT ST AT
3) 12 O 29 FARTETAIG 1000 AESHRT ST 3MSedT ST HeA]
4) 15 9 19 TINTETAISG 1000 HRATHATT STHIAT T STHhT E]
Adolescent Birth rate means,

1) Number of births per 1000 women aged between 15 to 25.
2) Number of births per 1000 women aged between 12 to 25.
3) Number of births per 1000 women aged between 12 to 29.
4) Number of births per 1000 women aged between 15 to 19.

72.  ARY fIUM STeET,
3N) BT ITAT hadd HATTGHT Icdd HISTe) ST,

) TRASHTRIAT HBUTRT SRISHIR AT AT AT AISTAT ST,

g 3R
1) 31 I 2) ¥ Iy
3) Il ag 4) =T AT

Identify correct statements.

a) Only earned income is counted in national income.

b) The unemployment allowance received by an unemployed person will be count in
national income.

Answer options

1) a correct 2) b correct

3) Both correct 4) Both incorrect
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73. AT 9 FHaer.
3T) TR FTReT ez oard . T, S, T SfoT e foemdis It o ol
) AT AT qHATT S 2010 T TS

%) T M@ 1995 IR ST AT TcsedT AaT s Mezliwral ST gt

©) B N3 3 AW T 5 NSsiehr=ar AerA hIeo ST,

TR IR
1) 3, &, € 2) 9, &®
3) I, T 4)F, €

Identify correct statements.

a) Multidimensional poverty index was started by UNDP and oxford university jointly.
b) This index was started in July 2010.

¢) This index replaced the Human poverty index which was started in 1995.

d) This index is calculated by using 3 dimensions and 5 indices.

Answer options.

1)a, c, d 2) b, c

3 a, b 4)c,d

74, QSIHUH dfam I ATd FHT AA?
37) IT3M G Ixq T T SATAT WIGT ITHPTRATST Shosl ST
) AT A I&T T AT SUTE] W& JATORIATST hosl ST
%) T G I d ST STl GXGT GATISIATST Shosl ST

T IR
1) RSTR T 2) Wheh 3T IO T
3) 0T & 4) 3T ITOT &

Which of the following is part of final products?

a) All goods and services which are purchased for consumption.

b) All such goods and services which are purchased for investment.
c) All such goods and services which are purchased for resale.
Answer option

1) All of the above 2) aand b

3) b and c 4) a and c
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75. SR FHMAT M3l WSIAUh hioTdT M3l ST Ydor.
31) for s faerT s (GDI)

) T FTSIHIOT URATT (GEM)

T IR

1) IAAUHT =T ATel 2) Wtk

3) th & 4) 37 30T § Tl

Gender inequality index replaced which of following indexes.

a) Gender based development index. (GDI)

b) Gender empowerment measures. (GEM)

Answer options

1) None of the above 2) Only a

3) Only b 4) a and b both

76. RIS [auHTIhr sre far sfies.
1) HATIRAS TS 3Tl T30 AMRAISG AT T Fafdiel Tegdik Aieol. €39 AR
RIS I HATIR, AT ATIRTAIS Geeh ST [ 2TehdTd, A=l Wi IaTor-garor ar
I,
2) FAERAIG TS 3T FURIAIG Fa< AGd F Fafdi=r dgdai Aieoll, =ors
FIERATA I, T, 2, AT, Higdes a1 A9d a9-99 [IaRTd 9.
3) FIERAIS & ATTRATAIIAT [Agd FAhed T e,
4) ITIHT Tl ATer.

Identify the incorrect statement among the following.

1) Balance of trade is a systematic record of imports and exports in the visible trade of a
country. Visible trade is trade in goods, the elements of trade that can be seen by the eyes,
can be physically exchanged.

2) Balance of payment is a systematic record of all imports and exports in the country's
trade. It takes into account all transactions of goods, service tax, investment, capital.

3) Balance of payment is a broader concept than balance of trade.

4) None of these.
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77. AR A9 T AME) devTa AT [ ST 2

3) S 98 IRTSHAT RIGRIAMAR A A107 FU=IIMF) S=ma=T 27 fS9eR, 1945
IS{T HRUGT 3T

) IMF 9 TSI <A IY IR,

%) IMF I AT 99 1 ¥ T 30 TN & e,

ERIR SIS
1) T, T )T, F
3) A, & 4) fogr =

Which are the correct statements regarding the International Monetary Fund (IMF)?

a) The International Monetary Fund (IMF) was established on December 27, 1945 as per the
recommendations of the Bretton Wood Conference.

b) IMF headquarters located in New York.

c) The financial year of the IMF is from 1%t May to 30™ April.

Alternative answers :

)a, b 2) b, c

3)a,c 4) All three are correct
78. AT ATYE TROT(LPG) vt easll ehRvard 3e?

1) 24 S, 1991 2) 24 S5, 1991

3) 14 5[, 1991 4) 14 95, 1991

On which day 'New Economic Policy'(LPG) was announced?

1) June 24, 1991 2) July 24, 1991

3) June 14, 1991 4) July 14, 1991

79. WIHISID! SIS IJUTATT AHIOT BT Tre=arad U/~ S AT8l/d ?

1) 25 I, 2014 S TSHTSHRT Hized TR HAHT Al ®Ua? DDU - GKY T

TR AT,

2) UTeTa TOTUeh! v 75% TR0THT ASHR HHT RIquar=r g4t 2og1d 3.

3) 15 9 55 99 FENCHIG UTHIOT IR0 d0a9s T e 3AeHh STHdT
EIEEk)

4) FTHIOT RIS TEOTHT SHRITAT YETEid NUH THEe [ShRIrel & g T Skill
Development For Growth e e,

Which of the following statements regarding Deendayal Upadhyay Grameen Kaushalya
Yojna(DDU-GKY) is/are not correct?

1) On 25 Sept. 2014 Livelihood Skill Development Program Scheme was converted into DDU
- GKY.

2) At least 75% of the trained youth are guaranteed to provide employment opportunities.
3) To increase productive capacity by developing skills among rural poor in the age group
of 15 to 55 years

4) This scheme is also known as Skill Development For Growth for inclusive development

by bringing the rural poor youth into the stream of development.
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80. 9T BT BXAIdROT (DBT) FISTH=IT JTUhT HhivTdl JeS 3Med ?

31N wEER FEser Feaet d) B JUROT

%) YETIR FHHT HROT T) AUHT TSI
T 3N

1) %th &, & 30T § 2) B<h § AT 8

3) Theh & STOT & 4) STRT Fa

The Direct Benefit Transfer (DBT) plan aims at ?

a) control expenditure b) improving targeting
¢) reduce corruption. d) eliminate waste

Answer Options:
1) Only b, c and d 2) Only b and d
3) Only b and ¢ 4) All of the above

81. WRA ISR TS dsTd JTHIOT qramd graeT et MTRIDF) <t T et et 2
1) 1977-78 2) 1991-92
3) 1993-94 4) 1995-96
When did the Government of India create the Rural Infrastructure Development Fund(RIDF)
under NABARD?
1) 1977-78 2) 1991-92
3) 1993-94 4) 1995-96

82. ‘HAYYTT TIgHAT TS TSHIA Jehle [T 3TTesaT.
1) & AT 17 TR 2023 S TRATT GATLH Ag Hlal Jrem g I HogTd 3T,
2) IEIT1 - 3T fafay 18 YR SRR for e siear TR Y ged 2.
3) JRYNE HRIPRAT THTT 9 HHIS S ST 9T Hhol [GTdROT, TSI AT ATSTEIH
3T hey SO 3TTE.
4) I7 TSR 1 T SIGiqdad el TN 3% ATSER UG gIUTR.

Identify the incorrect statement regarding 'Prime Minister Vishwakarma Yojana'.

1) This scheme was launched on 17 September 2023 by the Prime Minister of India,
Narendra Modi.

2) Objective - To provide financial support to various 18 types of artisans and their small
industries in the country.

3) Unsecured loans of up to two lakh rupees at a concessional rate of interest will be
provided to traditional artisans at one time.

4) Loans up to Rs 1 lakh will be available through this scheme at just 3% interest rate.
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83. HMNURAIS (BOT) FheuEeyid 1T U 3.
37) ATIRANS FUTST UehT Tl S2TSAT ST SRl Ut fohaa 37T Szmen Fatd g
) FHe AIRATGIS IIMAT JATATIET HATdrer TATT SR 319,
%) Ul SIRAIGETS IMAT FATdTdeT ST THTOT SR 379
gt 3
1) TUSURT T 2) Wth 3T ITTOT
3) Theh & STTOT & 4) ISR Tehal ATar

Identify the correct statement regarding the concept of Balance of Trade(BOT).

a) Balance of Trade is the difference between the total value of a country's imports and the
total value of its exports in a year.

b) In a favourable balance of trade, a country's exports are greater than its imports.

¢) In an unfavourable trade balance, a country's imports are greater than its exports.
Alternative Answers:

1) All of the above 2) Only a and b only

3) Only b and c only 4) None of the above

84. Yelouehl 3N faar MHaer :
3) RATSAT SYRIITIH RO quraeft RGeS I9 1966 T I el
TR AT ST,
) A7 AW TGS I, Fell T Tedeh FATAT [TRaTe! AT ITART T H=1 A1

AT HRUGTT 7.

T IR

1) %eh & 2) h 3

3) 37 30T & <ol 4) ISR Tehgl ATar

Choose the incorrect statement from the following :

a) The Ramaswami Mudaliar Committee was appointed in 1966 to examine India's trade
policies.

b) The committee suggested that necessary machinery and raw materials should be imported
for the development of energy and transport sectors.

Alternative Answers:

1) Only b 2) Only a

3) Both a and b 4) None of the above
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85.

ATE 2023 I HI0ATT ST ‘Tz aw7e qstrarad gehre 9 FHaer.

1) FERTY IREHRGR & ST ASuard Id 3TTe.

2) YATEROTIR dis AT Mg IUareaT 383l 39 $9-TT 9OR 0F g A1 At
3T AT

3) 3fTF disT dgld HISeHEd U < ST Yobe ST Af9d IR T SR
.

4) TGTEROT HTYTATST hIB3MET 919X HHT hiad TG AT HHI KTEl, A7 Ie2T STagdT
T IETT =T 919 ol TSl HR0TR 378,

Select the incorrect statement regarding 'Mission Samarth Yojana' launched in March 2023.

1) This scheme is being implemented by the Government of Maharashtra.

2) The scheme aims to promote the use of bio-fuels with a view to promoting environment-
friendly power generation.

3) Five percent biomass pellet fuel is to be mixed with coal in the thermal power station.
4) To reduce the use of coal for environmental protection and reduce the amount of ash,

biofuel and biomass will be used for energy production.

86.

qeIAUehl HIOTAT IYTITSHT 1991 AT Fa SR JROT=T AT A1er ?
1) TTISI~eh HATAT HEAT HATS hosl e,

2) NPT IR Yegdi=il TST.

3) 3{TSTRT FREM ARFRT AT 31T,

4) HUHET MRTP HAET € Sol.

Which of the following measures was not a part of the 'New Industrial Policy' of 1991?

1) The role of public sector was soft/moderate.
2) Destruction of industrial licensing system.
3) Sick factories brought under government control.

4) Abolished MRTP limit on wealth.
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87. WS sRIER [T 3fresaT.
3T) Thg TRBIRA S 2023 ST UCH-Thar o ey sifdfedhar IS oTes STTe.
) TG SRR ATSTATST bl ATTCHhIE AT 0Tl & Uideid db 3R,
) AT ASHER BT PeaT dF RIS IS 6,000 FIF S5 STrar.
T) ATHIAT JTAT ATHST AT oATaTS! HeA-ThAT Fismr ST 3o Aad steor
SUTR 3TTR.

T 3
1), 9, &, S 2) 3, 9, TOT §
3) 37, F 0T & 4) 3, & AMOT S

Identify the correct statements from the following.

a) The central government has introduced a face authentication feature in the PM-KISAN'
app in June 2023.

b) This is the first time that face authentication is being provided for a welfare scheme.
¢) Through this scheme, farmer families are paid Rs 6,000 each in three instalments.

d) PM-KISAN Yojana to be linked with 'Bhashini App' to provide information to farmers in
their mother tongue.

Alternative Answers:

1) a, b, c, d 2) a, b, and d

3) a, b and c 4) a, cand d

88. WISIGUHI HIVTd FRR AV ATIR TgeH=T (WTO) Fhid Idrd 2
37) I AR a9 FRR (GATT) ) IaT AR [ T99% TR (GATS)
%) difegsh ATGHTT HXE0T {996 FRIR (TRIPS) $) ThR MaARIT TRIX
IO I
1) A, & 2) A, d, b
3, H, S 4) 3,9, H, T I
Which of the following agreements come under the World Trade Organisation (WTO) ?
a) General Agreement on Trade and Tariff (GATT)

b) General Agreement on Trade in Services (GATS)

c) Agreement on Trade-Related Aspects of Intellectual Property Rights (TRIPS)
d) Agreement on Dispute Settlement

Alternative answers:

1) a, 2) a, b, c

3 a,cd 4) All a, b, ¢, d
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89.

TUTTHAT AT FISTHT (PMAY) HedTd SRR TH0 [T 3.

1) 17 S, 2015 ST 2024 G TEATEST G (Housing For All by 2024) IT JiST==l SISOl
ET

2) 25 S, 2015 ST & ASHT TIFHAT STERT AT T =i H0aTd M.

3) 2022 GAT 2 I 3ET °L IO € IT Ao 3T 8. T 2011 T STRTVAT 99
STEIET 93T 3TTE.

4) IS 2015 O 2022 37 7 IEEH dF oqiqs TSq0GTd ST

Identify the incorrect statement regarding Pradhan Mantri Awas Yojana (PMAY).

1) On June 17, 2015, the scheme 'Housing For All by 2024' was announced.

2) On June 25, 2015, the scheme was announced as 'Pradhan Mantri Awas Yojana'.

3) The plan aims to build 2 crore urban houses by 2022. They include all the cities of the
2011 census.

4) The scheme was implemented in three phases over 7 years from 2015 to 2022.

90.

STRTTeh Sl (WB) =T T ShivTal 3TTed?

37) AT AT [AhAATSr ST sl <of

) M, T T ASHIR-TSTh eIl AT Jor.

&) TIY 399 T U HHT 3T TeTaldd S2dle STReT ST ol
T 3N

1) % 2) Bh A, §

3) Oeh &, & 4 H, 9, F

What are the functions of the World Bank (WB)?

a) Long-term lending to member countries for development

b) To promote sustainable, equitable and employment-creating growth.

¢) Poverty reduction in middle income and creditworthy low income countries.
Alternative Answers:

1) Only b 2) Only a, b

3) Only b, c 4) a, b, c
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91.

T foa Faer.

3T) TYTH P A 2023 € IV ARSI UifSd Jorarg a9 I 9ifvd 6o 3R,

) YT ITEHIER AT 1 THS 2023 o 31 AT 2024 I HSEUd 9eRTg 4 3= (Fog)
I 2 AT IevaTg 39 3R,

%) M2 T off 3T IHEAT hg’ IUTI I VR 3T,

qIT 3N
1) Wk 3T 2) Bth §
3) Wth I, ¥ 4) 99 RS

Choose the correct statements.

a) United Nations has declared the year 2023 as 'International Year of Nutritional Benefits
of Millets'.

b) Maharashtra Shree Anna (Millets) campaign is being implemented in the state from 1%
April 2023 to 31t March 2024.

c) ’Shree Anna Center of Excellence' to be established at Nashik.

Alternative Answers:

1) Only a 2) Only b

3) Only a, b 4) All correct

92.

NARTH TROT s,

31) &1 AT s AaIHTIZT Bia.

) A IMERIR STHATAT [FHIA0MATST SAT0T 3MAT AR IhIhROTST TR SUITHTST
F) AT TRERAT ASThI, FIfgeh, TZ[eh AT MTOT HEFTR ROTT AHEZT gl
°) @Tﬂéﬁr 77 sfafETeT et g (Economic Constitution) Y HEIUETT 3T
Ty

1) =l iRoT fTy, 1948 2) 3M=RTs aReT Ftaf==H, 1956

3) 3T aReT A=A, 1970 4) AR GRoT ITEE, 1991

Identify the Industrial policy.

a) The resolution was very comprehensive.

b) It included policies, practices, rules and regulations necessary for controlling industrial
activities and shaping the industrialization of the country.

¢) It included fiscal, monetary, tariff and labour policies of the government.

d) That is why this resolution was called the 'Economic Constitution'.

Answer options :

1) Industrial Policy Resolution, 1948 2) Industrial Policy Resolution, 1956

3) Industrial Policy Resolution, 1970 4) Industrial Policy Resolution, 1991
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93,  HRATd 3NTTh ICATEATAS Jea! HISTOARATST ‘3Th JedTeTaT (Hazreh’ (1IP) FI0T YehiRrd
TR ?
1) FeiT FiART FETGT (CSO) 2) Sal STERT
3) MBI THAT TG&T0T TRAT (NSSO) 4) I TR

Who publishes 'Index of Industrial Production' (IIP) to measure growth in industrial

production in India?
1) Central Statistical Office (CSO) 2) NITI Aayog
3) National Sample Survey Organization (NSSO) 4) None of these

94, WigTo WIAER FIITAT YT IRAAIAGES RIHRAT HXTIRITST RBI 7 2006 T ShioTT=AT
LTI TehT AT WATIAT heal. AT AHAAH 31 5 2006 ST ATIST STEATH RBI T
AR HT.

1) . AT 99 2) TH. TRTIEq

3) T, TH. dRIIRT 4) YH IRG

RBI set up a committee in 2006 under the chairmanship of whom to make recommendations
on full convertibility of rupee on capital account. The committee submitted its report to
the rbi on 31 July 2006.

1) Dr. Abhijit Sen 2) M. Narasimham

3) S. S. Tarapore 4) Deepak Parekh

95. WETHSIAUDI HIVTd fTIT I 3= ?
1) IMF It Tare ot 9orsy wRer | U 9ie A% TR i H.
2) TA® A Y AT FEER 3T YA U Tt Tg-Rdl F UehT T g
FHUE Al
3) ReT& I TR TR BUH d= RAT 6o fod 73 a7 Sieary Tt Te-R B
Y HIAT.
4) ST FHBSIRITS! U HRGRT A’ T, AW 24 I IRIA o T A AT
fadia sRar.

Which of the following statements is incorrect ?

1) A 'Board of Governors' acts as the highest decision-making body of the IMF.

2) Each Member State appoints one Governor and one alternate Governor as its representative
on this Board.

3) The Governor of the Reserve Bank serves as the Governor and the Union Finance Minister
of India serves as the alternate Governor on this board.

4) There is an 'Executive Board' for day-to-day operations. It has 24 members representing
all member states.
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96. 1991 T 3N Tehe YEIer HIOTAT - T3 Jeizi A& g 2
3N ASTHNT Hehe ENEIRRIECRCEREGIEIRED
EDRIRIG GRS IEC S ¥) IS-dTedT 3€ &%
T 3N
)3, 9,5 ) H,Hh, T
3) 31, %, S 4 A, 9, S
The financial crisis of 1991 was related to which of the following three main factors?
a) Fiscal crisis b) The question of arbitrary balance of
trade
¢) Infrastructure issue d) High rate of inflation
Alternative Answers:
1) a, b, c 2) b, c, d
3 a,cd 4)a, b, d

97. TSATAIG APRI ANMAIG Harm=! RSl AR, ARITel FHede [&fad 30 Tedie
IR F IRS] BT I I IURT Hod Q0T, IT el HERIE EHHT T #A-AIT
TITRROTERTSN T IATYAT et 2T ?
1) 2 JfaeraR, 1977 2) 5 fe9«=, 1977
3) 19 1978 4) 14 9 1978
When was Maharashtra Housing and Area Development Authority(MHADA) established with
the aim of meeting the need of housing in the urban areas of the state and providing
houses to the homeless and needy people of different income groups in the society?
1) 2 October, 1977 2) 5 December , 1977
3) 1 May 1978 4) 14 May 1978

98. TSI Aaule FHI(NIF) ¥ sRisR e Siord 2

37) 7 STHENT, 2007 WSl TRERA ST U LT W0 Hgrar Foig aqor.
) Tl T AT &3 STHAHUS (CPSEs) IRHRET TcqqdTdles YRS (minority stake)

% e 9 SgvErATeT At M MRTdr Searar Mo 9uard e,
T

1) %<h 3 2) hth &

3) 3, F qhal SRIER 4) 3, § T I

Which statement is correct regarding National Investment Fund (NIF) ?

a) On January 7, 2007, the government decided to set up a 'National Investment Fund'.

b) It was decided to create this fund to hold the proceeds from the sale of minority stake
of the government in central public sector enterprises (CPSEs).

Answer options:

1) Only a 2) Only b

3) Both a and b are correct 4) Both a and b are incorrect
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99.  2021-22 MTHFKUTT HT HEATAT ARAITTAH TISTT THZTT 3RAP (Mission Shakti) IT T

AT FrSHETST SOOI G0 HR0ATd Tl ATEeSr T3 2Rhr3asd a9 Jiean

FISTT ATRd AT hioTAT ?

3N IES ) WaR
&) I I
RIS TS

1), 2) ¥, &
3) 3, & 4)F, S

In the 2021-22 budget, it was announced to bring all the important women related schemes
under one overarching scheme called 'Mission Shakti'. For that, there are two big plans

under 'Mission Shakti' which are they?

a) Sambal b) Swadhar
c) Capacity d) Women
Alternative answers:

1)a b 2) b, a

3) a,c 4) a, d

100. IEFT IRTER I STl dafed yae sfossdhs grdl 9oard sed. Yeles THE ShrashHTh
T SISl 3fiesaT.
1) ATIR AT : 1943-63
2) ST FSTHT/20 TEET TS : 1961-81
3) AT ST : 1981-2001
4) TSR AEMART [T Tehed : 2001 T

Organised efforts for road construction at the national level have recently been undertaken.

Identify the wrong pair in the following key programs :
1) Nagpur Plan : 1943-63

2) Bombay Plan/20 Year Plan : 1961-81

3) Lucknow Yojana : 1981-2001

4) National Highway Development Project : Since 2001
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